Angles and Arcs in Circles Standard Practice Name

#1) In circle O, tangent PA and secant PEDB are drawn. Chords AC and BE intersect at D. If the m& =30

mAB = 150, and m£CAB = 50, find the following:

a) ’né-av b) m<£EBA

c) msP d) mzsPAC




#2. AC is a diameter of circle O. Segment BODE is a secant, and EC isa tangent. Chord BC is drawn. If

mﬁ:r;zgazrna):lﬂ:l,and ml’)—fi=120,ﬁndz

a) mBC b) mzBOC

¢) m«BEC d) mzACE

e) m«DBC




#3) PA and PB are tangent to circle O at A and B. Diameter BD and chord AC intersect at E, m@ =120, and
m«P = 50. Find:

a) m/@ b) mZB

o) mEB d) msDEC

e) msPAC




#4) AB is a diameter in circle 0. FECA and FBG are secants. Chord ED_, radius OG are drawn. If the ratio of
ZB:EE‘:@=3:4:2,and mI’35=100,ﬁnd:

a) ’nD/—E\‘ b) m<«ECD

c) MmZAFG d) m«DBF

e) m«DBA f) m£OGB
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#2. AC is a diameter of circle O. Segment BODE is a secant, and EC isa tangent. Chord BC isdrawn. If
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#4) 4B is a diameter in circle 0. FECA and FBG are secants. Chord BD, radius OG are drawn. If the ratio of

E:BE‘:E"E=3:4:2,and mb??=100,ﬁnd:

a) mDE b) mLECD‘ . g
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